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def to_sqgl _iris(cursor, dataFrame, tableNane, schemaNane='SQ.User', drop_tabl e=Fal se
):
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Dynami cally insert datafrane into an IRIS table via SQ by "excutenmany"

| nputs:
cursor: Pyt hon JDBC or PyODBC cursor froma valid and establised DB
connection
dat aFr ane: Pandas dat af ranme
t abl enane: IRIS SQ. table to be created, inserted or apended
schemaNane: | RIS schenmaNane, default to "SQ.User"
drop_table: |If the table already exsits, drop it and re-
create it if True; othrew se keep it and appen
Qut put :
True is successful; False if there is any exception
"tr&lt;/span>
if drop_table:
try:

curs. execut e("DROP TABLE %. %" % schenaNane, tabl eNane))
except Exception
pass

try:
dat aFr ane. col ums = dat aFrane. col unms. str.replace("[() -]1", "_")
curs. execute(pd.io.sql.get_schema(dat aFrane, tabl eNane))

except Exception
pass

curs. fast_executemany = True
cols =", ".join([str(i) for i in dataFrane.colums.tolist()])

wildc ="".join('?, ' * |len(dataFramne.colums))

wildec ="' (" + wldc[:-2] + ")’

sql = "INSERT INTO " + tableNanme + " ( " + cols.replace('-', '_') + " ) VALUE
S" + wildc

#print (sql)

curs. executenany(sqgl, list(dataFrane.itertuples(index=False, name=None)) )

return True

oooooobooriIsSOoboooooboooooobooooobobOo0ooobOo ooobobobooDOoDbo
ooooboobooooobooooooboooobooooboOobooooDoboooOobobboobDOobooo
oooooobooooobooOoobDOobOOoOooOoboUooobDOobooDOobooo

executemanyD DO O OOO0OOOOO0ODOOOO
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goooboooboobooboobooboobooobobbooboobooboobobooboobOoon
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i mport nunpy as np

i mport pandas as pd

from skl earn.inpute inport Sinplelnmputer

i mport matplotlib.pyplot as plt

from skl earn.linear_nodel inport LogisticRegression

from skl earn. nodel _sel ection inport train_test _split

fromsklearn.metrics inport classification report, roc_auc_score, roc_curve
i mport seaborn as sns

sns. set (styl e="whitegrid")
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i mport os

for

df

df

di r nane,

for

filenanes in os.wal k('

filename in fil enanes:
print (os. path.join(dirnane,

= pd. read_excel ("

filenane))

input'):

./linput/raw data_kaggl e covi d_i cu. xI sx")

Jinput/datasets6059911272346KaggleSirioLibanesICUPrediction.xlsx

Out[2]:
PA| AG| AG| GE| DIS| DIS| DIS| DIS| DIS| DIS| ... | TE|OX|BL |BL | HE|RE| TE| OX| Wi | ICU
TIENEA [EP [NDE[EAS [EAS [EAS [EAS EAS EAS MPE[YGE [DODIOODIART [SPI [MPE[YGE|NDO
TVI BOVERCR EGEGEGEGEGEG RATNS PREPPRERA [RATRATNS W
SIT_[E65 [ENTI ROU|ROUROUROUIROUROU UREJATU [SSU|SSU[TE_ [ORYUREATU
IDE L PIN |PIN PIN PIN [PIN [PIN DIF RATIRE_ [RE_DIFFRA DIF [RATI
NTIF Gl G2 [G3 G4 G5 [G6 F [ON_PIA [SISTRE [TE_FR [ON_
IER DIFFISTOlOLI L  PpIFFEL DIFF
LIC_[cDI RE RE
DIFFJFF_ L L
RE |REL
L
1 0.0 0.0[0.0]0.0]1.0] 1.0 -1.0[ -1.0| -1.0 -1.0] -1.0] -1.0] -1.0] -1.0] 0-2
60th 00000000jD000}0000]0000j0000/0000j0000
o bbb bbb
1 1 0.0|0.0[0.0]00][10]10 -1. oL -1. oL L -1. oL L 2-4
60th 0000[0000j0000j0000j0000j0000/0000j0000
0 b b b b b b b
2 1 0.0[ 0.0/ 0.0] 0.0 1.0] 10 4-6
60th NaN [NaN [NaN [NaN [NaN [NaN [NaN [NaN
3 1 0.0 0.0[0.0]00]10]10 -1.0[ -1.0 -1.0[ -1.0
60th 0000D00ONaN [NaN [NaN [NaN j0000j0000}6-12
0 D 0 D
4 1 0.0 0.0[0.0]0.0]10] 10 -0.2{ -0.8] -0.3[ 0.4] -0.2 0.0] -0.2| -0.8] AB | 1
60th 3809[1818[89960755[3046(0677}4228[1443JOVE
5 b F B P B P B 2
384 1 [o0.0]l0.0[0.0]00]00]00 -1.0[ -1.0 -1.0 -1.0] -1.0] -1.0] -1.0] -1.0] 0-2
1920 50th OOOOBOOOOOOOBOOOBOOOOOOOBOOOBOOO
0 0 0
384 1 |o0.0|o0.0[0.0]00]0.0f00 -1.0[ -1.0 -1.0{ -1.0] -1.0] -1.0] -1.0] -1.0| 2-4
1921 50th oooo ooooooo 000 ooooooo 000[0000
384 1 [o0.0[0.0[00]00][00]00 -10 -10 -10 0 4-6
1922 50th oooo ooooooo ooo ooooooo ooo ooo
384 1 [o0.0]l0.0[0.0]0.0][00]00 -1 oL 1.0 -1 oL 10L 1.0 -1 oL 10L 1.0
1923 50th 00000000jD000j00000000[0000/0000j0000}6-12
0 b b b b b b b
384 1 [o0.0[0.0[z10]00][00]00 -0.5 -0.8| -0.7] -0.5] -0.7] -0.6] -0.5| -0.8| AB
1924 50th 1761[3838/0186[8596[6386/129065133B505/0VE
o W B F B B I b h2

1925 rows x 231 columns

3.000 - Python over JDBCOIRISDBO O OO T
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i mport | aydebeapi

url = "jdbc:IRIS://irisimsvr:51773/ USER'
driver = 'comintersystens.jdbc.|RI SDriver'
user = "SUPERUSER"

password = "SYS"

jarfile = "./intersystens-jdbc-3.1.0.jar"

conn = jaydebeapi.connect(driver, url, [user, password], jarfile)
curs conn. cursor ()

4. 000 -OD00ooooomwrisooboooboood

iris_schema = ' SQ.User'
iris_table ="' Covi d19RawTabl eFr onCSV

to sql _iris(curs, df, iris_table, iris_schema, drop_table=True) # save it into a ne
w RIS table of specified nane
#to sql _iris(curs, df, iris _table) # append datafrane to an exsiting IRIS table

Out[4]: True

i mport pandas as pd
from | Python. display inport display

df 2 = pd.read_sql ("SELECT COUNT(*) from %. %" %iris_schemn, iris_table), conn)
di spl ay(df 2)

Aggregatel
0 1925

000000000000 Covidl9RawTableFromCSvO OO OIRISODOODOOODOODOOOODOIRISODOOO
gboooboobooboobooboobooboobooboboob

5. 000 -000goobboobboodd

oboboobooobooboboblooboobOoloodpBCOO OO OODOODbDOOCE
dockerDODOOODOODOODODOODOODO

fromtqgdminport tqgdm

i mport pandas as pd

i mport tinme

from | Python. display inport display
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start = time.clock()
for i in tgdm range(0, 10)):

to_sql _iris(curs, df, iris_table)
print("Total tine elasped: ", time.clock()-start, for inmporting total records:")
df 2 = pd.read_sql ("SELECT COUNT(*) from %. %" 9%iris_schenn, iris_table), conn)
di spl ay(df 2)

10094 ??????????| 10/ 10 [00: 14<00: 00, 1.42s/it]

Total tinme elasped: 12.612431999999998 for inporting total records:

Aggregatel

0 19250

ggoobobboogooobboooobobboooooobobboooobobbooooobbbuoooobo
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gboogoboooboooobgooo

goooboobooboboobooboobo
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viEwd O oooooboobooooobgooobgoo
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